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1. What is the correct IUPAC name of this compound?

N
NN

A. 4-cyclopropyl-4-propyl hexene

B. 4-ethyl-4-cyclopropyl heptene

C. 4-cyclopropyl-4-ethyl heptene

D. both B and C


https://dl.doubtnut.com/l/_epoOyhf1OhgK

Answer: C

° Watch Video Solution

2. Hybridisation of central atom changes for which of
the  following  molecule  when  undergoes
dimerization?

A.CF;3

B.CIO;

C.NO,

D. All of these


https://dl.doubtnut.com/l/_epoOyhf1OhgK
https://dl.doubtnut.com/l/_fc6Kv0tXsiey

Answer: D

° Watch Video Solution

3. The value of Henry's law constant for few gases at
298 K is given below. Arrange these gases in the
increasing order of their solubility .
N, : 76.48 kbar. O, : 34.86 kbar, H,: 69.16 kbar

A. Oy < Ny < Hy

B.Oy < Hy < N,

C.Hy < Ny < Oy

D.N, < Hy < O,


https://dl.doubtnut.com/l/_fc6Kv0tXsiey
https://dl.doubtnut.com/l/_hF3Ue10iecGH

Answer: D

° Watch Video Solution

4. If the distance between Na™ and Cl~ ions in

NaCl crystal is 'a’ pm, the edge length of the unit cell


https://dl.doubtnut.com/l/_hF3Ue10iecGH
https://dl.doubtnut.com/l/_qD5Bg50V1XNF

Answer: D

° Watch Video Solution

5. Drying agent which reacts with C'O5 and involves
water vapour is

A.CaO

B. CCLClQ

C. CCLCO:),

D. C’a(NO3)2

Answer: A



https://dl.doubtnut.com/l/_qD5Bg50V1XNF
https://dl.doubtnut.com/l/_uQfJFhi3W9mG

[ W Watch Video Solution J

6. Arrange stability of given carbocations in

decreasing order

CH,

58 A8 S

A 1,234
B.2,3,1,4
C.2]134

D. 2,34,

Answer: B



https://dl.doubtnut.com/l/_uQfJFhi3W9mG
https://dl.doubtnut.com/l/_binFNIT523ok

[ ° Watch Video Solution

7. The compressibility of a gas is less than unity at

STP .

AV, > 224 litre

B.V,, < 22.4 litre

C.V,, = 22.4 litre

D.V,, = 44.8 litre

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_binFNIT523ok
https://dl.doubtnut.com/l/_7nmoCBU4c5DD
https://dl.doubtnut.com/l/_uRb9huOc7Pbr

8. 2-Butyne can be prepared from which of following

compounds?
Cl Cl
ACH; — O~ O — OH,
c|*l C|’l
Br
B.CHs; — CHy — C — CHs
Br

C.CHy — CH; — CHy — CH>
| |
Cl Cl

D.Both A and B

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uRb9huOc7Pbr

9. What is not true about N,O3 ?

A. It is an equimolar mixture of NO and NO,

B.N - N bond length is approximately 186 pm

C.Bond angle around N atoms are equal

D.All the bond angles around N atoms are

different

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wvbo8n9Bu0ve

10. Which of the following set is having correct
statements?

1. Molecular crystals are hard in nature

2. Silicon carbide is a covalent crystal

3. Increase in radius ratio result in increase in
coordination number

4. In calcium fluoride structure, coordination number

of Ca’t is 4

A 1,2

B. 2,3

C.1,2,3

D.234


https://dl.doubtnut.com/l/_SEi9XThHMZwc

Answer: B

° Watch Video Solution

1. What is correct order of decreasing ionic

character ?

PbCly(I), PbF,(II), Pbly(11I), PbBry(IV)
A lllgt IVgtlgtll
B.1gt Il gt lll gt IV
C.lligtigtIvgtll

D.ll gt 1gtIVgtlll


https://dl.doubtnut.com/l/_SEi9XThHMZwc
https://dl.doubtnut.com/l/_R7F2qOSic7h6

Answer: D

° Watch Video Solution

12. The give reaction

CH,—CH; 6
| OH
H — C — Br —— > HO —
|
CHj;

Is an example of

A.Sg2

B.Sy1

C.Sy2

D.Sgl

CH,—-CH;

C

CHsj


https://dl.doubtnut.com/l/_R7F2qOSic7h6
https://dl.doubtnut.com/l/_tStW8thlz2CP

Answer: C

° Watch Video Solution

13. In which of the following compounds , the

nitrogen atom exhibits negative oxidation state?

A. Sodium nitrate

B.NO

C. Sodium azide

D. Sodium nitrite

Answer: C



https://dl.doubtnut.com/l/_tStW8thlz2CP
https://dl.doubtnut.com/l/_L7JMLeino8lM

[ W Watch Video Solution J

14. An aqueous solution of hydrogen sulphide shows
the equilibrium: H,S & H® + HS®

If dilute hydrochloric acid is added to an aqueous
solution of H,S, without any change in temperature,
the

a. The equilibrium constant will change.

b. The concentration HS® will increase.

c. The concentration of un-dissociated hydogen
sulphide will decrease.

d. The concentration of HS ® will decrease.

A. the equilibrium constant will change


https://dl.doubtnut.com/l/_L7JMLeino8lM
https://dl.doubtnut.com/l/_TG2qoFV3BiNz

B. the concentration of HS =~ will increase

C.the concentration of undissociated hydrogen

sulphide will decrease

D. the concentration of HS ~ will decrease

Answer: D

° Watch Video Solution

15. In two H atoms A and B the electrons move
around the nucleus in circular orbits of radius r and
4r respectively. The ratio of the times taken by them

to complete one revolution is


https://dl.doubtnut.com/l/_TG2qoFV3BiNz
https://dl.doubtnut.com/l/_iGVCAWUqB0Jz

Al:4

B.1:2

C.1:8

D.2:1

Answer: C

o Watch Video Solution

16. Which of the following can reduce Tollen's reagent

?

A.HCOOH


https://dl.doubtnut.com/l/_iGVCAWUqB0Jz
https://dl.doubtnut.com/l/_zVrkzfvVtv3x

B. C;H; NHOH

C.CH3CHO

D. Alll of these

Answer: D

o Watch Video Solution

17.  Aqueous solution of Ni*T  contains
[Nz'(HQO)G]%L and its magnetic moment is 2.83 B.M.
When ammonia is added in it, the predicted change

in the magnetic moment of solution is:

A. it will remain same


https://dl.doubtnut.com/l/_zVrkzfvVtv3x
https://dl.doubtnut.com/l/_krBaXS4ac8FT

B. it increases from 2.83 BM

C. it decreases from 2.83 BM

D. It cannot be predicted theoretically

Answer: A

o Watch Video Solution

18. In the reaction

Na/NH;/ (1
CH=CH / 3/(>)

The product 'C'is

AD-C=C-D



https://dl.doubtnut.com/l/_krBaXS4ac8FT
https://dl.doubtnut.com/l/_5kDmqv1kJvKH

B.CHs — C — H

Answer: C

° Watch Video Solution

19. The enthalpies of formation of N2O and NO are
28 and 90 kj mol 1 respectively. The enthalpy of the

reaction, 2N20(g) + O2(g) — 4NO(g) is equal to


https://dl.doubtnut.com/l/_5kDmqv1kJvKH
https://dl.doubtnut.com/l/_V3AenA4vg5Zu

A. 8k

B. 88 kJ

C. —16kJ

D. 304kJ

Answer: D

° Watch Video Solution

20. Three Faraday of electricity is passed through
aqueous solutions of AgNO;, NiSO, and CoCls

kept in three vessels using inert electrodes. The ratio


https://dl.doubtnut.com/l/_V3AenA4vg5Zu
https://dl.doubtnut.com/l/_xXAHjjyB8ieX

in mol in which the metals Ag, Ni and Co will

deposited is

A 3:2:1

B.1:2:3

C.2:3:6

D.6:3:2

Answer: D

° Watch Video Solution

21. What is the binding energy (in J/mol or kJ/mol) of

an electron in a metal, whose threshold frequency for


https://dl.doubtnut.com/l/_xXAHjjyB8ieX
https://dl.doubtnut.com/l/_eALiEIZYPyCA

photoelectron is 3.5 x 1051 ?

A.66.38kJ / mol
B. 6.95kJ / mol
C.13.91kJ / mol

D. 27.82kJ / mol

Answer: C

° Watch Video Solution

22. The correct IUPAC

|Cr(H0)(NCS)|[ZnBr,] is

name

of


https://dl.doubtnut.com/l/_eALiEIZYPyCA
https://dl.doubtnut.com/l/_yCUWV1uXNsE6

A. pentaaqua isothiocyanato chromate (ll) tetra

bromozincate (Il)

B. pentaaqua isothio cyanate zince bromide

chromate ()

C. pentaaque isothiocyanato chromium (lll) tetra

bromozincate (ll)

D.isothio cyantopenta aqua ammine chromium

(1) zinc chloride (IV)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yCUWV1uXNsE6
https://dl.doubtnut.com/l/_MQSRScAXGRHH

23. Arrange the following compounds in order of
their reactivity towards Sy 2 reaction
(¢)CH3(CH,),CH,Cl

(i) (CH;),CHCH,CH,ClI

CH;
CH;
(iii) CH3;CHy — C”H — CH,ClI
CHj3
(iv) CHs — c|;* — CH,ClI
o,

A. (iv) gt (i) gt (i) gt (i)

B. (ii) gt (ii)gt (iv) gt (i)

C. (iii) gt (i) gt (ii) gt (iv)

D. (i) gt (ii) gt (iii) gt (iv)


https://dl.doubtnut.com/l/_MQSRScAXGRHH

Answer: D

° Watch Video Solution

24. What is the correct sequence of the increasing
order of freezing point at one atmosphere of the
following 0.01 M aqueous solution?

1. Urea, 2. Potassium chloride, 3. potassium sulphate,
4. Potassium phosphate.

Select the correct answer using the codes gives

below

A. 34,12

B. 3,4,2,1


https://dl.doubtnut.com/l/_MQSRScAXGRHH
https://dl.doubtnut.com/l/_yzY3tDenJhgl

C.4,3],2

D. 4,3,2,1

Answer: D

o Watch Video Solution

25. Which of the following shape are not possible for

possible value of n in XeF;, molecule ?

A. Linear

B. Square planar

C. Trigonal planar


https://dl.doubtnut.com/l/_yzY3tDenJhgl
https://dl.doubtnut.com/l/_W1tuRzhzwVVR

D. Capped octahedral

Answer: C

o Watch Video Solution

26. Which one of the following compounds gives

carboxylic acid with HNQO5?

0
|

A.CsHy — C — Cl
B. C; Hs CONH,

O O

i |
CCH; —C—-0—-C—-CHs

D. CH3;COOC,Hjy


https://dl.doubtnut.com/l/_W1tuRzhzwVVR
https://dl.doubtnut.com/l/_VYv7kspYeKku

Answer: B

o Watch Video Solution

27. Equal volumes of 1IMHCI and 1M H>S50, are
neutralised by 1M NaOH solution and z and ykJ /
equivalent of heat are liberated, respectively. Which

of the following relations is correct?

Ax =1y
B.z = 0.5y
Czx =04y

D. None of these


https://dl.doubtnut.com/l/_VYv7kspYeKku
https://dl.doubtnut.com/l/_Ra4cWc5dwDPT

Answer: B

o Watch Video Solution

28. Which of the following does not give borax bead
test ?

A Cr3t

B.Co?*

C.Ag™"

D.Mn™

Answer: C

[ n W atrh \/idan Calii¥Fian ]


https://dl.doubtnut.com/l/_Ra4cWc5dwDPT
https://dl.doubtnut.com/l/_xoT91mNBuK5m

v FTVUGWiIl ViMIWWY JVIWIGEGIVIL J

29. Two moles of an ideal gas is expanded

isothermally and reversibly from 2 litre to 20 litre at

300 K. The enthalpy change (in kJ) for the process is

A. 224 k]

B. —22.4kJ

C.9.6kJ

D. 0kJ

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xoT91mNBuK5m
https://dl.doubtnut.com/l/_61hN1gaMnCrt

30. If the maximum concentration of PbCl, in water

is 0.01 M at 25° C, its maximum concentration in 0.1

M NacCl will be

A2x 107 3M

B.1.6 x 10 2M

C.1x10"*M

D.4 x 10 *M

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bV52te5lXM6Y

31. The incorrect statement regarding cellulose is

A. it is a polymer of D-glucose

B.It has 8 — 1,4 — glycosidic linkage

C. it is used for making rayon fibre

D.it can be obtained by polymerisation of D-

glucose in the lab.

Answer: D

° Watch Video Solution

32. Lactose on hydrolysis with dil.HC| gives


https://dl.doubtnut.com/l/_gWkl9yyi5i2R
https://dl.doubtnut.com/l/_uEWtg48ytURY

A. Glucose and fructose

B. Glucose and mannose

C. Fructose and mannose

D. Glucose and galactose

Answer: D

o Watch Video Solution

33. For adsorption of gas on solid suface. The plots of

logz /m versus log P is linear with a slope equal to

A K


https://dl.doubtnut.com/l/_uEWtg48ytURY
https://dl.doubtnut.com/l/_42u3rcJSUuGQ

B.log K
C.1/nK

D.1/n(n being integer)

Answer: D

o Watch Video Solution

34. 0zone depletion takes place as :

203(g) — 30:(9)
Step1: O3(9) <k:> Oz(g9) + O(9)
k

Step2: O3(g) + [O] — 20-(g)

order of the reaction will be :

(fast)

(slow)



https://dl.doubtnut.com/l/_42u3rcJSUuGQ
https://dl.doubtnut.com/l/_avDTcB2O2hk0

A1l

B.2

C.3

D. unpredictable

Answer: A

o Watch Video Solution

35. Complete the following

Br
|

ac KOH NBS/hv . Mg/ether . D0 mo;
O L)) © ) i ®



https://dl.doubtnut.com/l/_avDTcB2O2hk0
https://dl.doubtnut.com/l/_KWx5euDFqvuq

A.OHC -CH, - CHy, —CHy, — CHy — CHO

OHC -CHD - (CH, — CHy, — CHy, — CHO

OHC - (CHy - CHD -CHy, — CHy, — CHO

D.OHC -CH, - CHy, — CDy, — CHy, — CHO

Answer: B

° Watch Video Solution

36. In which reaction the product is not correctly

given ?


https://dl.doubtnut.com/l/_KWx5euDFqvuq
https://dl.doubtnut.com/l/_TLXPbweSQiXx

A. PhOCH 3+Br_(2)overset(FeBr 3)(rarr)
(##NTA NEET SET 105 E02 036 OO1l.png"
width="30%">

B. PhCOOH+CH 3CH 2Cloverset(AICl 3)(rarr)
(##NTA_NEET SET 105 EO2 036 002.png"

width="30%">

D.Both Aand B

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TLXPbweSQiXx
https://dl.doubtnut.com/l/_LaDr8oqViAgE

37. The spin only magnetic
Cr(CO)g is

A.O

B.2.84

C.4.90

D. 5.92

Answer: A

moment value of

o Watch Video Solution



https://dl.doubtnut.com/l/_LaDr8oqViAgE

38.

O

|| 3 2U3
CH, — C — OH 25 (P) 22 ()

.Ris
A.CH;CH,;NH,
B. CH;CN
C.CH;CH,COOH

D. CH;NH,

Answer: D

Br,/ KOH
— (R

o Watch Video Solution



https://dl.doubtnut.com/l/_FXZLC5fddXIn
https://dl.doubtnut.com/l/_QrOOGRsvsf3I

39. A certain weak acid has a dissociation constant
1.0 x 10~ *. The equilibrium constant for its reaction
with a strong base is :

A.1.0 x 1074

B.1.0 x 10~ 10

C.1 x 10

D.1.0 x 10~ 14

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QrOOGRsvsf3I

40.(P) -5 (Q) + (R) T + (5) T
X -2m+@® ]+ ]
P and X are respectively

A. AgNOs, LiNOs

B. AgNOj3, Pb(NO3),

C. Hgy(NO3),, Ca(NO;),

D. NCLNO?), Zn(NO?))z

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_p2mnVY2PJfmr

41.Table sugar is

A. A disaccharide consisting of D-glucose and D-
fructose

B. a monosaccharide

C. a disaccharide of D-glucose

D.D - glucose

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_37zoh6OGl3cE

42. The number of peptide bond(s) in the following

molecule is

0 o 0
| | I

H,N-CH,-C-NH-CH-C-NH-CH-C-NH @

CH; Ph

A.3
B.2
C.1

D.O

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3SaXwf8UBubm

43. The pair that requires calcination is

A. ZnCQO3 and CaO

B. FesO3. tHy0O and CaCOs5. MgCOs

C. ZnO and Fe;05. tH,0

D. All of these

Answer: D

o Watch Video Solution

44. Which one is not a resonance form of a

phenolate ion?


https://dl.doubtnut.com/l/_PCCdteir1Tnz
https://dl.doubtnut.com/l/_vwNXvVlMdPIt



https://dl.doubtnut.com/l/_vwNXvVlMdPIt

X
/O
C.
D.
Answer: D

° Watch Video Solution

45, The addition of Bry to ( E)-but-2-ene gives

A. (R,R)-2-3-dibromobutane

B. (S,R)-2-3-dibromobutane


https://dl.doubtnut.com/l/_vwNXvVlMdPIt
https://dl.doubtnut.com/l/_5kAxmKS3k2dA

C. (R,S)-2-3-dibromobutane

D. A mixture of (R,R) and (S,S) 2,3 dibromobutane

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5kAxmKS3k2dA

